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PERCENTAGE- Assignment  
 

1. 0.08% is equal to  
0.08% f;Fr; rkkhdJ 

a. 
8

125
  b. 

0.8

100
  c. 

1

1250
  d. 

80

1000
 

 

2. 28% of 450 + 45% of 280  
a. 156   b. 255  c. 358   d. 252  
 

3. 2 is what percent of 50? 
50y; 2 d; rjtPjk; vt;tsT? 
a. 2%   b. 25%  c. 4%  d. 125%  
 

4. What percent of 6.5 litres is 130 ml?  
6.5 ypl;lhpy; 130 kp.yp apd; rjtPjk;  
a. 2%   b. 20%  c. 50%  d. 5%  
 

5. 63% of 
4

3
7

 is  

4
3

7
d; 63% vd;gJ 

a. 2.25  b. 2.40  c. 2.50  d. 2.75  
 

6. 270 Candidates appeared for an examination, of which 252 passed. The pass 
percentage is:  
270 Ngh; vOjpa Njh;tpy; 252 Ngh; Njh;r;rp ngw;wdh;. vdpy; Njh;r;rp rjtPjk;?  

a. 80%   b. 83 1
2

%   c. 90 1
3

%  d. 93 1
3

%  

 

7. If 35% of a number is 175, then what percent of 175 is that number?  
a. 35%  b. 65%  c. 280%  d. none of these  
xU vz;zpd; 35% vd;gJ 175 vdpy; me;j vz; 175 y; vt;tsT rjtPjk;?  
a. 35%  b. 65%  c. 280%  d. ,it vJkpy;iy  
 

8. How many litres of pure acid are there in 8 litres of 20% solution?  
8yp fyitapy; 20% cs;s J}a mkpyk; cs;snjdpy;> mkpyj;jpd; msT?  
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a. 1.4 l  b. 1.5 l  c. 1.6 l  d. 2.4 l 
 

9. 0.15% of 33 1
3

% of Rs. 10000 is  

&gha; 10000 y; 0.15% d; 33 1
3

% vt;tsT?  

a. Rs. 0.05  b. Rs. 5  c. Rs. 105  d. Rs. 150  
 

10.  Meena spends Rs. 2,000 from her salary for recreation which is 5% of her salary. 
what is her salary?  
kPdh vd;gth; &gha; 2,000 I nghOJ Nghf;fpw;fhf nryT nra;fpwhh;. ,J mthpd; 
rk;gsj;jpd; 5% MFk; vdpy; mtUila rk;gsk; vt;tsT?  
a. Rs. 10000  b. Rs. 4000  c. Rs. 100  d. Rs. 40000  
 

11.  If 15% of 40 is greater than 25% of a number by 2, then the number is:  
40 d; 15% vd;gJ xU vz;zpd; 25% rjtPjj;ij tpl 2 mjpfk; vdpy; me;j vz; 
vd;d?  
a. 12   b. 16   c. 24   d. 32  
 

12. subtracting 40% of a number from the number, we get the result as 30. The number 
is:  
xU vz;zpypUe;J me;j vz;zpd; 40% I fopj;jhy; fpilf;Fk; vz; 30 vdpy; me;j 
vz; vd;d?  
a. 28   b. 50   c. 52   d. 70  
 

13. The sum of two numbers 
28

25
  is of the first number. The second number is what 

percent of the first?  

,U vz;fspd; $Ljy; 
28

25
 klq;F Kjy; vz;zhFk;> vdpy; ,uz;lhtJ vz; Kjy; 

vz;zpy; vt;tsT rjtPjk;?  
a. 12%   b. 14%  c. 16%  d. 18%  
 

14.  Two number A and B are such that the sum of 5% of A  and 4% of B is two-third of 
the sum of 6% of A and 8% of B. Find the ratio of A : B. 
,U vz;fs; KiwNa A, B MFk;. A vz;zpd; 5% kw;Wk; B vz;zpd; 4% ,tw;wpd; 

$Ljy; MdJ Ad; 6% kw;Wk; Bd; 8% $Ljypd; 2
3

 klq;fpw;Fr; rkk; vdpy; A : B 

d; tpfpjk;  
a. 2 : 3   b. 1 : 1   c. 3 : 4   d. 4 : 3  
 

15. A student has to obtain 33% of the total marks to pass. He got 125 marks and failed 
by 40 marks. The maximum marks are : 
33% kjpg;ngz; vd;gJ Njh;r;rp MFk;. khztd; xUtd;> 125 kjpg;ngz;fs; vLj;J 
40 kjpg;ngz;fs; Fiwthf ngw;wjhy; Njhy;tpia jOtpdhh; vdpy; mjpfgl;r 
kjpg;ngz; vt;tsT?  
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a. 300   b. 500   c. 800   d. 1000  
 

16. The population of a village is 32,000. 40% of them are men, 25% of them are women 
and rest are children find the number of children?   
xU efuj;jpy; cs;s kf;fs; njhif & 32>000 40% Mz;fs; 25% ngz;fs; 
kPjKs;sth;fs; Foe;ijfs; vdpy; mq;Fs;s Foe;ijfspd; vz;zpf;if?  
a. 11200  b. 12800  c. 8000  d. 20,800  
 

17. Iniyan bought 5 dozen eggs. Out of that 5 dozen eggs, 10 eggs are rotten. Express the 
number of good eggs as percentage. 
,dpad; 5 l[d; Kl;ilfis thq;fpdhh;. mjpy; 10 Kl;ilfs; nfl;Ltpl;ld. 
kPjKs;s ey;y Kl;ilapd; rjtPjk;?  

a. 87 1
2

%  b. 83 1
3

%   c. 50%  d. 80%  

 

18. The price of a house is decreased from rupees fifteen lakhs to Rupees Twelve lakhs. 
find the percentage  decrease?  
xU tPl;bd; tpiy & 15 ,yl;rj;jpy; ,Ue;J 12 ,yl;rkhf FiwfpwJ vdpy; 
vt;tsT rjtPjk; Fiwe;J ,Uf;Fk;?  
a. 30%    b. 20%   c. 12%  d. 3%  
 

19. The weights of two chemical substances are 20.34 g and 18.78 g. Write the difference 
in percentage. 
,U Ntjpg;nghUl;fspd; vilfs; KiwNa 20.34 fp kw;Wk; 18.78 fpuhk; vdpy; ,U 
Ntjpg; nghUSf;Fk; ,ilNa Md rjtpfpjk;.  
a. 83.33%  b. 156%  c. 87.5%  d. 80%  
 

20. Kayal scored 225 marks out of 500 in revision test 1 and 265 out of 500 marks in 
revision test 2. Find the percentage of increase in her score. 
fay; vd;gth; 500 f;F 225 kjpg;ngz;fs; Kjy; jpUg;Gjy; Njh;tpy; ngw;whs;. 
,uz;lhtJ jpUg;Gjy; Njh;tpy; 500 f;F 265 kjpg;ngz;fs; ngw;whh; vdpy; mthpd; 
kjpg;ngz; MdJ vt;tsT rjtPjk; mjpfhpj;Js;sJ?  

a. 10%  b. 8%  c. 12%  d. 17 7
9

% 

 

21.  15 sweets are divided between Sharath and Bharath, so that they 20% and 80% of 
them respectively. Find the number of sweets got by each.  
15 ,dpg;Gfis ruj;jpw;Fk; guj;jpw;Fk; gq;fpl;L nfhLf;Fk; NghJ ruj; vd;gtUf;F 
20%-k;> guj; vd;tUf;F 80%-k; fpilj;jhy; ,UtUf;Fk; fpilj;j ,dpg;Gfs; KiwNa  

a. 3, 12   b. 4, 11  c. 6, 9   d. 5, 10  
 

22.  The tax in  a restaurant is 15% of your total bill. A family of 6 members paid a bill of 
Rs. 750. What is the tax for thier bill amount?  
xU cztfj;jpy; thbf;ifahsh;fsplkpUe;J xU urPJf;F thpahf 15% 
thq;fg;gLfpwJ. xU FLk;gj;jpy; cs;s 6 egh;fs; & 750 I urPjhf fl;bdhy;> me;j 
urPJf;F vt;tsT njhif mth;fs; thp nfhLj;J ,Ug;ghh;fs;?  
a. 114.25 Rs  b. 112.25 Rs c. 67.50 Rs   d. none of these  



 

4 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
  

 

 

23.  Three candidates A, B and C in a school election got 153, 245 and 102 votes 
respectively, the percentage of votes for the winner is___________.  
%d;W Ntl;ghsh;fs; KiwNa A, B, C gs;spj; Njh;jypy; 153, 245, 102 thf;Ffs; 
ngw;wdh;. vdpy; ntw;wp ngw;w thf;fhshpd; thf;Ffspd; rjtPjk;?  
a. 48%  b. 49%   c. 50%   d. 45%  
 

24. A fruit vendor bought some mangoes of which 10% were rotten. He sold 33 1
3

% of 

the rest. Find the total number of mangoes bought by him initially, if he still has 240 
mangoes with him.  
xU gotpahghhp rpy khk;goq;fis thq;fpdhh;. mtw;wpy; 10% khk;goq;fs; nfl;L 

tpl;ld. kPjKs;stw;wpy; 33 1
3

% khk;goq;fis mth; tpw;whh;. jw;NghJ mthplk; 240 

khk;goq;fs; cs;sd vdpy;> nkhj;jkhf mth; thq;fpa khk;goq;fspd; vz;zpf;if?   
a. 380   b. 800   c. 360   d. 400 
 

25. 35% of A is equal to the 45% of B. The difference between A and B is 186, then 40% of 
the sum of A and B?     
A d; 35 rjtPjk; vd;gJ B d; 45 rjtPj;jpw;Fr; rkk;. A kw;Wk; B vd;gtUf;F 
,ilNa Md tpj;jpahrk; 186 vdpy; A kw;Wk; B d; $Ljypd; 40% vt;tsT?  
a. 562.4  b. 548.6  c. 595.2  d. 532.2  

PERCENTAGES Assignment – ANSWER 

1 2 3 4 5 6 7 8 9 10 

C D C A A D D C B D 

11 12 13 14 15 16 17 18 19 20 

B B A D B A B B B B 

21 22 23 24 25      

A D B D C      

 


